
10-11 классы

№
вопроса Правильные ответы №

вопроса Правильные ответы

1 капуста 19 б
2 на 5 человек нужно очищенного

картофеля: (50+150)х5= 1000 (г),
необходимо купить:
1000+1000х0,3= 1,3 (кг) картофеля

20 1-а, 2-г, 3-б, 4-д, 5-в

3 трескается 21 ∑ = (Сб +Пб) – (Ст+Пт) =
(46+2) – (33+1) = 48 – 34 = 14

4 г 22 в
5 г, д 23 в
6 б 24 декатирование
7 жаренье 25 б
8 в 26 баланс
9 б, г, д, ж 27 г
10 а, б, г 28 в, г
11 льезон 29 а
12 11 30 б
13 а, в 31 а, г
14 а, д, е 32 а, б, в, д
15 композиция 33 устав
16 шов узелки 34 13%
17 г 35 100 + (100х0,10х1) = 110 тыс.

руб.
Св = С + (СхПхГ), при Г≤1
или  Св = Сх (1 + П)г

18 а


